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SQL exercise with solutions (to be run on MySQL)
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ships (B%,%545)

battle (¥, M=)

B4 | OW,X,Y,Z

¥ | shipA,shipB,...

#gre: | B1,B2,B3,B4

T

create table ships(
country char(1),
ship char(5)

create table battle (
battle char(2),
ship char(b),
status char(7)

ffi¥¢ Damaged );
ymi< Sunk
Write SQL statements for the following queries: B SQL ?ﬁ F[J s HE )R gﬁ—ﬂ

insert into ships values

¢'w","shipJ"), ("wW","shipK™), ("W","shipM™), ("W","shipN"), ("X","shipA"),
' X","shipB™), ("X","shipC™), ("X","shipD"), ("Y","shipP™), ("Y","shipQ"),
¢'y","shipR™), ("Y","shipsS"), ("'Y","shipT"), ("Z","shipE™), ("Z","shipF"),
'z","shipG™), ("Z","shipH"), ("O","shipO™);

insert into battle values

'B1","shipA","s™), ("B1","shipB","d"), ("B1","shipC","ok™), ("B1","shipD","d"),
¢'B1","shipP","s™), ("B1","shipQ","d"), ("B1","shipS","s"), ("B1","shipT","d"),
'B2","shipP","d"), ("B2","shipQ","s"), ("B2","shipR","ok"), ("B2","shipS","d"),
'B2","shipT","s"), ("B2","shipF","s"), ("B2","shipG","s"), ("B2","shipH","d"),
('B3","shipA","d"), ("B3","shipB","s"), ("B3","shipC","d"), ("B3","shipD","s"),
'B3","shipQ","s"), ("B3","shipR","s"), ("B3","shipS","s"), ("B3","shipT","s"),
('B3","shipE","ok™), ("B3","shipF","d"), ("B3","shipG","s"), ("B3","shipH","0ok"),
('B4","shipA","ok"), ("B4","shipB","s"), ("B4","shipC","s"), ("B4","shipD","d"),
('B4","shipE","s"), ("B4","shipF","d"), ("B4","shipG","ok™), ("B4","shipH","0ok");

update battle set status="0OK"
update battle set status="Damaged"
update battle set status="Sunk"

where status="ok";
where status="d";
where status="s";
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(1) total number of ships involved in each battle = 838§ /&1 o Gt |

battle | count(*)
Bl 8

B2 8

B3 12

B4 8

(2) number of ships involved in each battle for each country
EPHG I B sl > o MR

battle country nShips B3 X 4
B1 X 4 B3 Y 4
B1 Y 4 B3 4 4
B2 Y 5 B4 X 4
B2 z 3 B4 4 4

(3) number of countries involved in each battle =88 L1 > 2T EISHrT |

battle | nCountry
Bl 2
B2 2
B3 3
B4 2

(4) count the no.of sunk, damaged & survived ships for each country in different
battles = S8 1> 2252 Bl o) R SHp 2 Bt !

battle | country | status count(*) | battle | country | status count(*)
B1 X Damaged | 2 B3 X Sunk 2
Bl X OK 1 B3 Y Sunk 4
B1 X Sunk 1 B3 Z Damaged | 1
B1 Y Damaged | 2 B3 Z OK 2
Bl Y Sunk 2 B3 A Sunk 1
B2 Y Damaged | 2 B4 X Damaged | 1
B2 Y OK 1 B4 X OK 1
B2 Y Sunk 2 B4 X Sunk 2
B2 Z Damaged | 1 B4 Z Damaged | 1
B2 Z Sunk 2 B4 Z OK 2
B3 X Damaged | 2 B4 Z Sunk 1
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(5) which country has not involved in any battle <7 %% = [P iLavE% (W,0)

(6) total number of ships sunk (not sunk) in each battle
£ IS L {2 S O

battle | nSunk
Bl 3
B2 4
B3 7
B4 3

(7) number of battles involved for each country =J {fil[gi 5 S =8 {EAUET |

country | nBattles
X 3
Y 3
z 3
0] 0]
W 0]

(8) total number of ships sunk (not sunk) for each country in each battle
5 [ 5 B 0 DO E ol

battle | country |nSunk
Bl X 1
Bl Y 2
B2 Y 2
B2 Z 2
B3 X 2
B3 Y 4
B3 z 1
B4 X 2
B4 Z 1

(9) name of ships which have never sunk in any battle
et 7 [ (P A IR & i £76 (shipH)

(10) the countries of Which some ships have not sunk in battle "B3"

PR B B3 (1 FE b RS - J2E 2 (X,2)
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(11) name of ships which sank in each battle = [j# & » jh’isfﬁﬁ%ﬁ@ %

battle | country |ship

B1 X shipA
B3 X shipB
B4 X shipC
B3 X shipD
Bl Y shipP
B2 Y shipQ
B3 Y shipR
Bl Y shipS
B2 Y shipT
B4 Z shipE
B2 Z shipF
B2 Z shipG

(12) the country of which all ships have sunk in battle "B3"
PREEsi - I B3 [ 2 HHT ST (V)

find the total (average) score of each country in each battle 7 z7#/

* 2 points
* 1 point i
* 0 point SIS

country | battle | total
X Bl 4
X B3 2
X B4 3
Y Bl 2
Y B2 4
Y B3 0
Z B2 1
Z B3 5
Z B4 5
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